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�
1.

(1) � Z/7Z, Z/8Z ���
	���
������
(2) � R �
� x ������������	 n ��� �!� xn = 0 ��"�#
$ %
&
��'�(
) %�* +,�

x �
'�(�)�-/.�0 1 + x 1��
	�2��3��4�%
��5�6��

�
2.7
12 �
� R = Z + Zε �
�8�9���
	��
:�; R× ��
������

<>=
�

1.

(1) Z/7Z �
?�*A@
2 · 4 = 8 = 1 2�����BC. 2, 4 1��
	�2�������D�E����
3 · 5 = 15 = 1 2��3�
BC. 3, 5 1��
	�2��CFG�
6 · 6 = 36 = 1 2��3�
BC. 6 HJI�#��
	�2A�������
K�� 1 1�H�LAM
N��
	��
��#���O�@�� Z/7Z ���
	�1 1, 2, 3, 4, 5, 6 2��3���

Z/8Z �
?�*A@
2 · 4 = 8 = 0 ��FP� 2, 4 1
)�Q
R�-���2A�
	�2�1�-�*
�
3 · 3 = 9 = 1 2�����BC.�� 3 1��
	32������
5 · 5 = 25 = 1 2��3�
BC.�� 5 1A�
	�2������
6 · 4 = 24 = 0 ��FG� 6 1
)�Q
R�-��A2��
	�2�1�-�*��
7 · 7 = 49 = 1 ��FG� 7 1��
	�2����9��S�T�BC.!�
Z/8Z ���
	31 1, 3, 5, 7 2������

(2) (UWV ) x �J'W(X)W-/.!0Y� xn = 0 �JZY#X$/�/+P- n ∈ N �J[Y\�$/�]�C4J�^%J&_�
m ≥ n -��9`�a3� m ∈ N �
�>�9@ xm = 0 2��3�
B�.9�cb��3�C+d- m ��eA	8%A��@
%gf�0��

1 = 1 − xm = (1 + x)(1 + (−x) + · · ·+ (−1)m−1xm−1)

= (1 + (−x) + · · ·+ (−1)m−1xm−1)(1 + x)

2������ �!#��AO�@A� 1 + x 1��J	�2������
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�
2.

R ���JK��31 1 2����������
`�a�� R �
� a + bε (a, b ∈ Z) ��%gf�0A�
(a + bε)(c + dε) = a + bε ⇐⇒ ac = a, ad + bc = b ⇐⇒ c = 1, d = 0
2����9� a + bε ∈ R (a, b ∈ Z) �
�J	 %���� c + dε (c.d ∈ Z) �
b������ %d$C��%��
ab + (ad + bc)ε = 1 2��3�JBC.�� ac = 1 B
? ad + bc = 0 2���������� a, b, c, d ∈ Z 2
���JB�.�� ac = 1 ��F a = ±1 %�-��������A� a + bε 1 a = ±1 -C.�0�� a − bε ���A�
��H!?��C+g-��
	�2����A4�%��
	�B��
B�.�� R× = {a + bε | a = ±1, b ∈ Z} 2������

2



� � � �
2

�
1.

(1) ����� ��� 2.1 ��� 2�
f(x) ∈ R[x], a ∈ R %g$C�!��4
�C%
&
� f(x) �	��
 ⇔ f(x + a) ����

����5�6��

(2) (1) ����� ������	 p �
� ��@A�
f(x) = xp−1 + xp−2 + · · · + x + 1

� Z[x] ���	��� %��!@	��
�2A����4�%
��5�6A�
�

2.
f(x) ∈ Q[x] 1	��	 3 ���	��� %d$C���� � �

f(x) � Q �
�J���C����#�-�*�-�.�0�� f(x) 1���

�
������6C����������4
� � ��� �C���C&��	���
6C���
<>=
�

1.
( U3V )
���/�3%�FP� � f(x) �� �
 ⇔ f(x + a) �� 	

��2����A4�%
��5�$_�
f(x) �	��
32�-�*C%g$�f�0�� f(x) = g(x)h(x) %�-3���C+g-�� g(x), h(x) ∈ R[x]! ##" � deg(g(x)), deg(h(x)) ≥ 1 $ � [A\ $ � � 4 � %�& � f(x+a) = g(x+a)h(x+a)
2��/FG� g(x + a), h(x + a) 1A*	%�fCH���	 1 S�T�2����
B�. f(x + a) 1� 	
�2������
����� f(x + a) �� 	
3-/.�0�T��	&�'3BC.�� f(x + a + (−a)) = f(x) 1� 	
�2������

�

�
2.

( U3V )
3 �����	��� f(x) �� 	
�2A����%���� f(x) = g(x)h(x) 2�����%d$�f�0�� g(x), h(x) �
*�% f3B ��� 	31 1 2A-)(9@ 1A- .9- *�� b�f � g(x) = x−a (a ∈ Q) %d$Af 0A� f(x)
1 a ��������?��8��#���O�@A� f(x) � Q �*�
���C����#�-A*�-C.�0�� f(x) 1���

2����9�

�

� + � f(x) �	��
�-C.�0 f(x) 1 Q �
�
���C����#A-�*��

( U3V )
H3� f(x) � Q �,����� a �AH�@ 0 f(x) 1 x−a 2�- F/. f���B .9� f(x) = (x−a)g(x)
%10�6�������� f(x) ����	31 3 2����
B�.!� deg g(x) = 2 2��CF � f(x) 1� �
�2������

�
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�
1.

(1) ; K �����	��
�1���
����	��
 0(= (0)) % K ��� K(= (1)) � 2 ?���Z�2�����4�%
��5�6��
������ ���� R ����
����	��
8% R ����� 2 ? ��B����	��
C� ��#�-�*�-
.�0 R 1
;�2����A4�%
��5�6��

(2) � Z[x] �
�
2A� (2) ∩ (x) = (2x) 2�����4�%���5�6��

�
2.

(1) a, b 1
��	>%G$C��%
&
� (∗) · · · (a) ⊂ (b) ⇔ b|a �����
6C�9� (∗) � ��*�@��C��5�6 +
(1.1) (12) + (36) ⊂ (6) (1.2) (24) ⊂ (6) ∩ (8)

(2) ��������F (1.1), (1.2) � �������	��� ⊃ ��58���
(12) + (30) = (6) (24) = (6) ∩ (8)

���
�
6C�!�

<>=

�
1.

(1) (U�V )

a � 0 2�-�* K �����	��
 %P$C��%!� a 1 0 2�-�* K �J� a ���! �B/.!�����	��

�#"�$3�3�3F 1 = a−1a ∈ a 2A�3�9� � O @�`Aa3� K ��� x ���>�9@�� x = x1 ∈ a %
-CF K ⊂ a 2����!�8��#���O�@�� a = K 2����
BC.!�J; K �����!��
�1 0 % K �
��� 2 ?�2��3���
� �# �� � R � 0 % K �%� � 2 ? � B��&�'�(
 � H�# - * % $�� � 4 ��% & � ` a �
0 2�-�* R �J� a �
� ��� a 2�)�*,+gfC�����	��
 (a) = Ra 1���
����	��
�2�1�-
*AB�.��.-/"A�3��F�49f31 R �0�>%9-3��� �9#A� OA@A� Ra = R 2A�3��BC.9� ba = 1
%9-��A��+g- R ��� b ��[A\A$/���A2�� a 1A��	�� �3� a 1 `�a3� 0 2A-A* R � ��2
��O�#�BC.!� R 1
;32����!�

�

(2) (U�V )

(2) ∩ (x) ⊃ (2x) 2�����43%g�
(2x) � ` a �_� 1 2x · f(x) (f(x) ∈ Z[x]) % 0 6 � B . � 2x · f(x) ∈ (2) B ?
2x · f(x) ∈ (x) 2��3���
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(2) ∩ (x) ⊂ (2x) 2�����43%g�
f(x) ∈ (2)∩ (x) %A��� f(x) = a0 + a1x + · · ·+ amxm (a0, . . . , am ∈ Z) %�� ( � 4
�
%
&
� f(x) ∈ (2) ��FP� a0, . . . , am ∈ 2Z 2��CF f(x) ∈ (x) �3F � a0 = 0 2������8�
#���O�@A� ai = 2a′

i %����J0�� f(x) = 2a′

1x + · · · + 2a′

mxm = 2x(a′

1 + · · · + a′

mxm−1)
2����
BC. f(x) ∈ (2x) 2������

�

�
2.

(1) (U�V )

(a) ⊂ (b) ⇒ b|a
(b) �_`�a �J� 1 bx (x ∈ Z) % 0Y6^�]��� � (a) ⊂ (b) ��F � a ∈ (b) 2 �W�XB^.]�
a = bx %�-3���C+g- x ∈ Z ��[�\�$C�
��2�� b|a 2��3���
(a) ⊂ (b) ⇐ b|a
-/"AB�. b|a 2A�3� B�. a = bk %��A*A@�����0 �!`Aa3� ax ∈ (a) (x ∈ Z) � �>�9@A�
ax = bkx ∈ (b) 2������ ��#��AOY@A� (a) ⊂ (b) 2������
S�T�BC.�� (∗) �	�
��+gf�#
�
(12) + (30) ⊂ (6) 2����A4�%g�
(∗) ��FP� (12) ⊂ (6), (30) ⊂ (6) 2������ (12) + (30) 1 (12) % (30) ���! 	��
����
�	��
�2����
B�.�� (12) + (30) ⊂ (6) 2��3�!�
(24) ⊂ (6) ∩ (8) 2��3��4�%g�
(∗) ��FP� (24) ⊂ (6), (24) ⊂ (8) 2��3�
BC.!�
`�a�� x ∈ (24) �J� ��@ x ∈ (6) BJ?
x ∈ (8) 2����!� ��#A��O�@�� x ∈ (6) ∩ (8) ��F � (24) ⊂ (6) ∩ (8) 2����!�

�

(2) (U�V )

(12) + (30) ⊃ (6) 2����A4�%g�
(6) �J`�a��
� 6x (x ∈ Z) ��� 12a + 30b (a, b ∈ Z) �
����0�6^��4�%
�]5�6�0W�
*
� 2 % 5 1	��*�����2��3�
B/.9� 2s + 5t = 1 %�-3���/+g-���	 s, t �
[A\�$/�9�>�
#��AOA@�� a = sx, b = tx %����J0A� 6x = 6x(2s + 5t) = 12sx + 30tx = 12a + 30b %
-����
(24) ⊃ (6) ∩ (8) 2��3��4�%g�
`�a�� x ∈ (6) ∩ (8) �
� ��@�� 6|x B
? 8|x 2����JBC.�� 24|x 2������

�
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�
1.

(1) Z �����	��
 (3) ����������� Z/(3) = {0, 1, 2} ����*�@	�����A�������!�
(1.1) x ����	�� 2x + 1 = 0 ��
 �P�
(1.2) x ����	�� 2x2 + x + 1 = 0 1 Z/(3) ��
/����?�B�
��C�9�

(2) Z �����	��
 (12) �3��������� Z/(12) = {0, 1, · · · , 11} ����*A@	�����������A���
(2.1) x ����	�� x2 = 4 ��
 � �
(2.2) x ����	�� 4x + 1 = 0 1 Z/(12) ��
C� ��?�B�
��C�!�

�
2.

(1) � � 	 ; ����� � Z[i] = {a + bi : a, b ∈ Z} � � � � 
 (1 + 3i) � �Y����� �
R = Z[i]/(1 + 3i) ��������� α ∈ Z[i] ���	 R ��������� α %���$X�
1 + 3i ∈ (1 + 3i) ��F � 1 + 3i = 0����O�@�� 1 + 3i = 0 � i �
B��
@Y� i − 3 = 0 ���
L
� i = 3 2������C4J��43%�BC.�� 10 = 0 ��5�6��

(2) ���� �D�! ϕ : Z −→ R � ϕ(n) = n (n ∈ Z) %�"����]�C4
�C%
&J� Kerϕ = (10) �
5�6�� ( ��1 ϕ 1�:�"�-���2��� 3D�! "�#C��F Z/(10) ∼= Z[i]/)(1 + 3i) 2����!� )

<>=

�
1.

(1) (1.1) �����C+g-	0C�JB��
0��
*
�

x 0 1 2

2x + 1 1 3 = 0 5 = 2

��#���O�@���
31 x = 1

(1.2) TC%!D
E��	������+g-	0C�
B �
03�
*
�

x 0 1 2

2x2 + x + 1 1 4 = 1 11 = 2

��#���O�@���4�����	���1 Z/(3) �*�
��
C� ��#�-�*��

6



(2) (2.1) 4�f/H (1) %�D�E�$���@
�C����� �!@	0C����f30��
*
�

x 0 1 2 3 4 5 6 7 8 9 10 11

x2 0 1 4 9 16 = 4 25 = 1 36 = 0 49 = 1 64 = 4 81 = 9 100 = 4 121 = 1

��#���O�@���4�����	�����
�1 x = 2, 4, 8, 10 2A�����
(2.2) 4�f/H�0C����f�0������C+g��-��9�

x 0 1 2 3 4 5 6 7 8 9 10 11

4x + 1 1 5 9 13 = 1 17 = 5 21 = 9 1 5 9 1 5 9

S�T�BC.���4
����	���1 Z/(12) �*�J��
C����#�-A*
�

�
2.

(1) (U�V )

i = 3 ��FG� i · i = 3 · 3 2��3���C�JO�@�� −1 = 9 2�����BC.�� 10 = 0

�

(2) (U�V )

(1) � &#'3B . � 10 = 0 2 � � B�. � n ∈ Z � � � � ϕ(10n) = ϕ(10)ϕ(n) = 10 ·n = 0
- � 2c� (10) ⊂ Ker ϕ 2_� �c4 % 1 � * B . � Ker ϕ ⊂ (10) � 5c6 0 � * � n ∈ Ker ϕ �
$�-
	WL n = 0 2�����%G$/��%!����� Z[i] �J� a + bi (a, b ∈ Z) �X[�\8�]@�� n =
(a+bi)(1+3i) %9- � �A4 � % & � n = (a−3b)+(3a+b)i 2A� � B . ��� � �	��
 � @
3a+b = 0 �_�9O @ b = −3a 2 � FP� 4 f � F � � �	��
 $ f 0 n = a−3·(−3a) = 10a
��#���O�@�� n ∈ (10) 2�������
 �
� Kerϕ ⊂ (10)

�
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� � � �
5

�
1.

��� 	A; C T � 1 �A	*���#�A� R = C[x] �����A� �J`Aa �����c	 λ ∈ C ���>� x−λ
2�)�* +gf�# R �����	��


aλ = (x − λ) = {(x − λ)f(x) : f(x) ∈ C[x]}

1 R ���������	��
�����5A6��
�

2.

 ���� R %�b������ ��
 a ��� ��.Gf�@�*3���C4J�C%
&
����� R/a �����	��
31 a ���	 R ���#�	��
 I(⊃ a) ����FP� I/a �	�/����@�*��9�

( #�"/��� I/a = {a : a ∈ I})

∵) X � R/a �����	��
8%g$C�9�
I = {a ∈ R : a ∈ X} % � (�%�� I 1��#�	��
����
	C�9"�#
$C4�%����3B��C.Gf�@��
R ���#�	��
���-����3bC��@��
`�a�� a ∈ a �J�>��� R/a 2�1 a = 0 ∈ X BC.
a ∈ I ���JO�@�� a ⊂ I 2���������O�@A�

I/a = {a : a ∈ I} = {a : a ∈ X} = X. �

(1) ; K TA��������� K[x] ���#�/��
 a = (f(x)), f(x) ∈ K[x] ���>�9� ���A� K[x]/a
�����/��
�1 g|f %�-3�	����� g(x) ∈ K[x] ����FG� (g(x))/a �	���3��@A*3��43%
�
5�6�� ( T���������
 + )

(2) R = Q[x]/(x2 − x − 6) �����	��
��!$���@

����9�

<>=

�
1.

( U3V )
λ ∈ C ��`�a3����?8%�O�@��#"
$/���C4
�C%J&�� Φλ : C[x] −→ C � Φλ(f(x)) = f(λ)
( �	���3� λ ��� ��$/����� ) ���
O�@�"A����%�� Φλ 1��� �D�! %�-��9��I�#�� Φλ 1
:�"�2A������-���-C.g`Aa�� c ∈ C �J�>��@�� f(x) ∈ C[x] ��"�	��	��� f(x) = c 2
"��Jf30 Φλ(f(x)) = c 2��3��� ��#���O�@A�� �D�! "�#��3��F C[x]/Ker Φλ

∼= C 2
���JB�.�� C[x]/Ker Φλ 1
;�2����
��� Ker Φλ = (x − λ) 2�����4�%��!5�6�0�����1
�
� +dfC����� ���

f(x) ∈ Ker Φλ ⇐⇒ f(λ) = 0
⇐⇒ f(x) = (x − λ)g(x) %�-��A�C+G- g(x) ∈ C[x] �
[�\�$C���

2�����BC.�� Ker Φλ = (x − λ) 2��3���

8



�

�
2.

(1) (U�V )

TY� � �^� �W* f 0Y� K[x]/a ��� �!� 
 1 a �.�! K[x] � ��� ��
 I(⊃ a) � �
FP� I/a �	�C�3��@�*��9�3I�#�� K[x] 1A�	�����/��
�� � ! ����� p.81 ��� 2.2.4 $
2����XBC.!��4J� I 1��W� g(x) ∈ K[x] �W��FG� I = (g(x)) � �/�W��@�*W�!�3I�#Y�
a ⊂ (g(x)) 2����
B/.�� f(x) ∈ (g(x)) 2A���!� ��#���O�@�� f(x) = g(x)q(x) %�-��
�C+g- q(x) ∈ K[x] �
[�\�$C�JB�.�� g|f 2��3���

�

(2) x2 − x − 6 = (x + 2)(x − 3) ��->F .��	�	����1A� 1, x + 2, x − 3, x2 − x − 6 � 4 ?
2������ (1) ��&�'�BC.�� R ���#�	��
�1��

(1)/(x2 − x − 6) = Q[x]/(x2 − x − 6) = R, (x + 2)/(x2 − x − 6)

(x − 3)/(x2 − x − 6), (x2 − x − 6)/(x2 − x − 6) = {0}
� 4 ?�2����9�

9



� � � �
6

�
1.

"�# 2.2.7
! �������/��
��
[�\�$����
��������@	����5�6��

 ���� R ��������	/� S %g$C���/4
�C%�&
� S ∩ p = ∅
!�
 ��	�$ %�-�� �����	��
 p

�
[�\A$C���
Hint; 1. M ��� 	CF!� I = {I : I 1 R �����	��
�2 I ∩ S = ∅ ��"3#
$ } ��� ���9�

2. ���	��
 p �	�����	��
��������
$C��#������ a, b ∈ R, ab ∈ p %A����
����
a 6∈ p, b 6∈ p "�O�#�%���@����C����6��

�
2.

(1) S � R ��������	>%g$C��� R �����/��
 a �J� ���

S−1
a =

{
a

s
: a ∈ a, s ∈ S

}

%�� (�%
&J� S−1a 1 S−1R �����	��
�2����A4�%J��5�6����3���

S−1
a = S−1R ⇔ a ∩ S 6= ∅

��5�6��
(2) �	����� R = Q[x, y] ��������	 S = {xiyj : i ≥ 0, j ≥ 0, i, j ∈ Z} %g$���%
&J� R
�����	��
 a = (x2 + y2, (x + y)2) �
�8��� S−1a = S−1R ��5�6A�

<>=

�
1.

( U3V )
I = {I : I 1 R �����	��
�2 I ∩ S = ∅ �!"�#
$ } %�� (�%�� 0 6∈ S ��F � (0) ∈ I �
��#��AO�@ I 6= ∅ 2����!��b�4�2�� I �
`�a3�
:�����������	 J = {Jλ}λ∈Λ �
� ���
J =

⋃

λ∈Λ Jλ %d$�� %9� J 1 R ���&�/� 
32c�3� �A-��3- . � a, b ∈ ⋃

λ∈Λ Jλ %d$ �3% �
a ∈ Jλ, b ∈ Jλ′ %�-����/+d-�� λ, λ′ ∈ Λ �
[�\�$C�
��� J �J:�������	�2A���
BC.��
max {Jλ, Jλ′} ��������43%!��2�& ! $�-�	3L Jλ ⊂ Jλ′ I�#�1 Jλ ⊃ Jλ′ $ ����4!fC�
Jλ %���@ � (A%�� a, b ∈ Jλ 2������C4�4
2�� Jλ ∈ I 2����
B�. Jλ 1 R �����	��

-A� 2 a− b ∈ Jλ 2A� �9� � O_@ a− b ∈ J, `Aa � r ∈ R ��� �9@ ra ∈ Jλ 2A� � B�. �
ra ∈ J 23H���F J 1 R � �#�/��
32 �3�A43%9� 5 +df3#���I #A�!`Aa3� λ ∈ Λ � �>�
Jλ ∩ S = ∅ 2A���
BC.�� J ∩ S =

(
⋃

λ∈Λ Jλ

)

∩ S = ∅ 2�H����JBC.�� J ∈ I 2����!�
J � J �AT���2�����4�%91��C.!B
��S�TABC.!� I ��`�a��
:�����������	���� I �

10



���AT ����H9?�43%!��5 +df�#A�A2A� I 1 ����� ������	32��3�9� � O @A���	��
�
��� ���3��F I ��1������ p �
[�\�$C�!�C4�� p �	�����	��
�2�����4�%
�95�$�#����
a, b ∈ R, ab ∈ p, a 6∈ p, b 6∈ p %g$C�9� 4
��%J&
� p ( p + (a), p ( p + (b) 2��3�JBC.9�
p ������
�����FP� (p + (a)) ∩ S, (p + (b)) ∩ S 1�*�%�fCH 
 2�-�*
�>��#���O�@��
x + ra, x′ + r′b ∈ S %�-����C+G-�� x, x′ ∈ p, r, r′ ∈ R �J[�\>��� S ��������	C��F �
(x + ra)(x′ + r′b) = xx′ + xr′b + x′ra + rr′ab ∈ S 2A���
��� x, x′, ab ∈ p 2��3�
BC.��
p �
�32�H
�����C4!f31�� p ∩ S = ∅ 2A����4�%������A$C���

�

�
2.

(1) (U�V )

a

s
,

b

s′
∈ S−1a %G$���%�� a

s
− b

s′
=

s′a − sb

ss′
2��CFG� a, b ∈ a ��FP� s′a − sb ∈ a

ss′ ∈ S 2������C��O�@A� a

s
− b

s′
∈ S−1a��I�#A� a

s
∈ S−1a,

r

s′
∈ S−1R -�.�0��

a

s
· r

s′
=

ar

ss′
2��CFP� ar ∈ a, ss′ ∈ S 2����
B/. a

s
· r

s′
∈ S−1a 2�������S�TABC.

S−1a 1 S−1R �����	��
�2��3���������

S−1
a = S−1R ⇔ a ∩ S 6= ∅

��5�$X�
S−1a = S−1R %g$C�3%!� a

s
= 1 %�-����C+g-A� a ∈ a, s ∈ S �
[A\�$C�!�C4
�C%
&��

s′a = s′s % - �A� + - s′ ∈ S � [ \c$ ��� � s′a ∈ a, s′s ∈ S � FP� a∩S 6= ∅ 2 � � �
����� a ∩ S 6= ∅ %g$C��%�� S−1R �����/��
 S−1a �A�
	��J[�\�$C��43%!��-����
��#���O�@�� S−1a = S−1R 2����!�

�

(2) (U�V )

1

2
((x + y)2 − (x2 + y2)) = xy ∈ S 2A���
��� (x + y)2, x2 + y2 ∈ a ��FP� xy ∈ a

2�H
�����8��#A��O�@A� a ∩ S 6= ∅ 2����JBC.�� (1) �	&�'/��FG� S−1a = S−1R

�

11



� � � �
7

�
1.

Z �����/��
 a = (6) = 6Z = {6z : z ∈ Z} %g$/��� S = 1 + a = {1 + 6z : z ∈ Z}
%�� ( �

(1) S 1�������	C�95�6��

(2) Z � S � ������� S−1Z �,�
�A� 1

2
,
1

3
1A�3�
B ! ��LJ� 2, 3 � �A�31��3��B�$�� IA#A�

1

35
1�����B��

�
2.

Z ����� ��	 S = {6n : n = 0, 1, 2, 3, · · · } �3�����
� ZS ���������

(1) ZS � 1

2
,
1

3
1����JB���I�#�� 1

5
1A���JB��

(2) a ∈ Z �
� �!� ZS �����	��

aZS := {a · z

6n
: z ∈ Z, n = 0, 1, 2, 3, · · · }

%g$C���C4J�C%�&
� 28ZS = 7ZS ��5�6���IA#�� 7ZS 1 ZS �	�����	��
/��5�6��

<>=

�
1.

(1) (U�V )

1 + 6z, 1 + 6z′ ∈ S %G$^��%]� (1 + 6z)(1 + 6z′) = 1 + 6(z + z′ + 6zz′) ∈ S 2��^FP�
1 ∈ S 2��3���

�

(2) 2 · a

s
=

1

1
�
Z�#J$C�C+d- a

s
∈ S−1Z �
[A\8��#C%g$�f�0A����� s′ ∈ S ���AO�@A�

2as′ = ss′ %�-�O�@A- (�@�1�*��J-�*A�����	��1	��	3��
	��1 S ����2
e�	�2����
BC. ����$/���>��#���O�@�� 2 1��
	�2�1�-�*���D
E�� 3 ��?�*�@�H
�
	�2A-�*
4�%���	�B����3I�#�� −35 = −36 + 1 ∈ S 2�����B/.�� 1

−35
∈ S−1Z 2��3�!�

��#���O�@�� −1

−35
∈ S−1Z 2��CFP� 35 · −1

−35
= 1 2����
BC.�� 35 1��
	�2��3���

12



�
2.

(1)
3

6
,

2

6
∈ ZS 2��CFP� 2 · 3

6
= 1, 3 · 2

6
= 1 2A���
BC.�� 2 H 3 H
�J	�2A������I�#��

5 · a

s
=

1

1
%�-����^+g- a

s
∈ Z �
[�\ �!#C%g$C��%!� s′ ∈ S ����O�@ 5as′ = ss′ %

-AO�@A*�- (�@�1A* ��-�*�� %
4�M���� 
	��1 6 �
'3(�2A����B/.�� 5 ����Q�	8%��
@���I�-�*���2 ����$C�!� ��#��AOY@A� 5 ���A��1�-�*J�

(2) (U�V )

`�a�� 28 · z

6n
∈ 28ZS �
�>��@A� 28z

6n
= 7 · 4z

6n
∈ 7ZS 2��3��BC.9� 28ZS ⊂ 7ZS 2

������I�#��
`Aa�� 7 · z

6n
∈ 7ZS �
� �9@�� 7z

6n
=

7z · 62

6n+2
= 28 · 9z

6n+2
∈ 28ZS 2

���
BC.�� 7ZS ⊂ 28ZS 2�������S�TABC.!� 28ZS = 7ZS

I�#�� a

6m
,

b

6n
∈ ZS (a, b ∈ Z, m, n = 0, 1, · · · ) %���� ab

6m+n
∈ 7ZS %G$C���C4
�/%

&
� 6`ab ∈ 7Z (` = 0, 1, · · · ) 2A�W�
BC.�� 7 1���	C��F a ∈ 7Z IA#Y1 b ∈ 7Z 2��
��� �9#��AO�@�� a

6m
∈ 7ZS I�#A1�� b

6n
∈ 7ZS 2����9��IA#�� 1

6
6∈ 7ZS 2�����43%

1 ��� �
	�B��
B/.!� 7ZS 1 ZS ��������� ��
�2Y������S�T�BC. 7ZS 1	�����!�

�2������

�

13



� � � �
8

�
1.

(1) v 1
; K ����� %d$C��%
&J� v(a−n) = −nv(a) ��5�6���#�"/��� n ≥ 0, a ∈ K �
(2) ��#�	�; Q � p ����� v 1���������	 (2) � (3) �!"3#
$C4�%
�!5�6A�

��������	 (2) v(αβ) = v(α) + v(β)

��������	 (3) v(α + β) ≥ min{v(α), v(β)}

�
2.

p = 5 �C%
&����CL 5 �����C��� �����C4��C%J&�������1

Z(5) =

{
a

b
: 5 1 b � - .!-�* , a, b ∈ Z

}

,

�����#�	��
�1

Z(5) 2�� 5 ��	�	�:�; 5Z(5) =

{

5 · a

b
:

a

b
∈ Z(5)

}

2����9�	"�# 2.3.5(3) ����*�@��#�	��
 a = 200Z(5) ���  Z(5) �����	��
C��$���@

����9�
<>=

�
1.

(1) (U�V )

v(1) = v(1 ·1) = v(1)+v(1) = 2v(1) 2 � � B . � v(1) = 0 2c� � ��� #c�JOJ@c� n = 0
�C%
&�1
� �9*J� 0 = v(1) = v(a · a−1) = v(a) + v(a−1) 2�����BC.9� v(a−1) = −v(a)

2������ �!#��AO�@A� v(a−n) =

n 

︷ ︸︸ ︷

v(a−1) + · · · + v(a−1) = −nv(a) 2������

�

(2) (U�V )

α, β ���
L�.�B�� 0 -C.�0��
���A1��C.�B�2�����BC.�� α 6= 0, β 6= 0 %d$C���

14



α, β ∈ Q %���� α = apm, β = bpn (a, b 1���������RW��*	%YfCH p 2	-8F .�f�-�*
�/+ -���	 � m, n ∈ Z) % 0 �]@ � (Y%!� v(α) = m, v(β) = n 2��W�]�C4J� %J&X�
αβ = abpm+n 2A��FP� a, b ��%�F �3BC.9� ab 1 ���3���AR3��*�%AfCH p 2�->F/.Af�-
*��/+G-���	W2������8�!#���O�@�� v(αβ) = m + n = v(α) + v(β) 2����!����� (3)

�
?�*�@�"���� m ≤ n %��!@AB�I�	�-�*J�C4��C%
&
� a =
y1

x1
, b =

y2

x2
%10�6�0��

α + β = (a + bpn−m)pm =

(
y1

x1

+
y2

x2

pn−m

)

pm =

(
x2y1 + x1y2p

m−n

x1x2

)

pm

2A�3���A� a, b ��%AF �3B�. � x1, x2 1A*�%Af H p 2�->F/.cf3-A*���� O @ � x1x2 1 p
2	- F/.�f�%Y� +�.9� m− n ≥ 0 2��3��43%�B�.!� v(α + β) ≥ m = min{v(α), v(β)}

�

�
2.

a �
`Aa��
� 200 · a

b

(
a

b
∈ Z(5)

)

�
�8��@�� 200 · a

b
= 25 · 8a

b
∈ 25Z(5) 2��CFP�

25Z(5) �J`Aa��
� 25 · c

d

(
c

d
∈ Z(5)

)

�
� �9� 25 · c

d
= 200 · c

8d
∈ a 2��3�
BC.��

a ⊂ 25Z(5) B
? a ⊃ 25Z(5) �/�
O�@�� a = 25Z(5) 2������	"�# 2.3.5(3) B�.�� Z(5) �
�����#�	��
�1
$���@�������� ��
��
'3(�2��CFP� (5Z(5))

2 = 25Z(5) = a 2������
�
O�@A� a ���	 ��/+d- Z(5) ����� ��
31�� Z(5) ����� 5Z(5), a � 3 ?32����!�

15



� � � �
9

�
1.

R 1 domain
! � � $ %d$C��� a, b ∈ R �
�8���

�
c ∈ R � a % b �	� 
���	�	 %�-������������
	�1 (c) = (a) ∩ (b) �

��5�6A�
�

2.

R 1 � 1. % D��A% $ �9� R � � a % b � � 
	� 	A	 � c % $ � ��� 1. � F (c) = (a)∩ (b)
2�����BC.�� (ab) ⊂ (a) ∩ (b) = (c) 2A��������O�@�� ab = cd %�-�� d ∈ R ���3���
4
�/%�&
� d 1 a % b �	���
��
A	�2�����4�%
��5A6��
<>=

�
1.

( U3V )

c � a % b � � 
���	 	32A� �3%d$ �9��4�� %�& � c = xa, c = yb % -3�A� +d- x, y ∈ R
�
[�\A$C��� ��#���O�@A�
`�a�� (c) ��� rc (r ∈ R) �
� �9@ rc = rxa ∈ (a) BJ?
rc = ryb ∈ (b) 2A�3�
B�.9� rc ∈ (a)∩ (b) � � O @�� (c) ⊂ (a)∩ (b) 2A�3�9� IA#�� `Aa
� s ∈ (a) ∩ (b) �3%gf�0�� s = r1a = r2b %!-3���C+g-�� r1, r2 ∈ R �
[�\�$��
BC.��
s 1 a, b ����	�	32������C�
O�@A� s 1 c 2	- F1.�f��J��2�� s = r3c %�-�� r3 ∈ R �
[�\�$��
BC.�� s ∈ (c) 2������C�
O�@ (c) ⊃ (a) ∩ (b) 2��CFP� (c) = (a) ∩ (b) 2������
����� (c) = (a) ∩ (b) 2��3��%g$C�!�C4
��%
&
� c ∈ (a) ∩ (b) 2�����BC.�� c 1 a, b �
��	�	32������ �!#���O�@A� a, b ����	�	�� c′ ��$���@ c 2	-8F/.�fC��4�%J��5�630
�
*J� c′ 1 a, b ����	�	32����
B/.�� c′ = r1a = r2b %!-3���C+g-�� r1, r2 ∈ R �
[�\
$ � �c2 � c′ ∈ (a)∩(b) 2A� � ��� � (a)∩(b) = (c) 2c� � B . � c′ ∈ (c) -c�c2 � c′ = r3c
%�-��A�C+g- r3 ∈ R �
[�\A$C�JBC.�� c′ 1 c 2	->F1.�f/��� ��#A��OY@A� c 1 a, b �
��

��	�	�2����!�

�

�
2.

( U3V )

d′ � a % b ��� 
 	 - . 0 � d′|d 2 � � 4 % � 5_6 0 � * � a = r1d
′, b = r2d

′ (r1, r2 ∈ R)
%�� ( �/4��C%
&J� r1r2d

′ 1 a, b �
��	A	�2����JBC.�� r1r2d
′ 1	� 
���	A	 c 2	-8F

16



.�f/�9��b�4
2�� r1r2d
′ = sc %����
0�� cd = ab = d′ · r1r2d

′ = d′sc %9-���� R 1
� �
2�����BC.�� d = d′s %�-CFG� d′|d 2����9�

�
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� � � �
10

�
1.

(1) Z[x] ���	���

f(x) = 102x8 + 78x7 + 84x6 + 48x5 + 66x2 + 72x + 54

� f(x) = ag(x), a ∈ Z, g(x) 1���� � �C%/0�6���#�"C��� a 1���Q
	���
�6/�9�
(2) R = Q[x] %g$/�9� R[y] �������

f(y) = x3y4− 5

2
x2y4+xy4+x2y3+x3y2− 5

2
xy3− 7

2
x2y2+x3+y3+

7

2
xy2− 3

2
x2−y−2− 3

2
x+1

� f(y) = ag(y), a ∈ Q[x], g(y) 1���� � �/%10�6A��#�"/��� a 1�QJ	���
�6C���

�
2.

(1) Z[x] ���	���
f(x) = 144x3 + 432x2 + 72x + 216

��������
�6C�9�
(2) R = Q[x] %g$/�9� R[y] �������

f(y) = x6y + x3y2 − x5 − x4y − x2y − xy2 + x3 + y

� f(y) = ag(y), a ∈ Q[x], g(y) 1���� � �C% 0 �]� f(y) � � � � 
 ! Q_	 � 
 $
6C���

<>=

�
1.

(1) ����	��	�
����
�	�1 6 2����9� ��#���O�@��

f(x) = 2 · 3 · (17x8 + 13x7 + 14x6 + 8x5 + 11x2 + 12x + 9)

(2)

f(y) =
1

2
{(2x3−5x2+2x)y4+(2x2−5x+2)y3+(2x3−7x2+7x−2)y2+(2x3−3x2−3x+2)}

2�����������	3�
?�*�@

18



2x3 − 5x2 + 2x = x(2x − 1)(x − 2)

2x2 − 5x + 2 = (2x − 1)(x − 2)

2x3 − 7x2 + 7x − 2 = (x − 2)(2x2 − 3x + 1) = (x − 2)(2x − 1)(x − 1)

2x3 − 3x2 − 3x + 2 = (x + 1)(2x2 − 5x + 2) = (x + 1)(2x − 1)(x − 2)

2����
BC.!� f(x) =
1

2
(2x − 1)(x − 2){xy4 + y3 + (x − 1)y2 + (x + 1)}

�
2.

(1) f(x) = 72(2x3 + 6x2 + x + 3) = 23 · 32 · (x + 3)(2x2 + 1)

2��CFP� 2x2 + 1 1	��
�- ���
�	���32����
BC.���49f�2��
*
�
(2) f(y) = (x3 − x)y2 + (x6 − x4 − x2 + 1)y − (x5 − x3) 2��CFP������	31

x3 − x = x(x + 1)(x − 1)

x6 − x4 − x2 + 1 = x4(x2 − 1)− (x2 − 1) = (x2 − 1)(x4 − 1) = (x + 1)2(x− 1)2(x2 + 1)

x5 − x3 = x3(x2 − 1) = x3(x + 1)(x − 1)

2����
BC.!�
f(y) = (x+1)(x−1){xy2+(x+1)(x−1)(x2+1)y−x3} = (x+1)(x−1)(y+x3)(xy−1)
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� � � �
11

�
1.

R 1� �� �3� S � R � � � � 	>%d$��9� R � S �3�A����� S−1R ���&�/��
31�:3@ �3�
(∗) ��E��	0 +gfC��43%�1	�
��+Gf�@A*�� +

(∗) S−1
a =

{
a

s
: a ∈ a, s ∈ S

}

(a 1 R ����� ��
 )

4������/����*�@ (∗∗) �!5�6A�

(∗∗) R � ����� ��-C.!0 S−1R H ����� ��2���� .

�
2.

Z[x] ������� R �
R = Z[2x, 2x2, 2x3, · · · ]

%d$C�����CL
������� f(x) = anxn + · · ·+ a1x + a0 ∈ Z[x] �
?�*�@��

f(x) ∈ R ⇐⇒ a1, · · · , an 1 2 ��	A	 (a0 1����
��	�2�HA�
* )

R ��������	 a �

a = {anxn + · · · + a1x : n ≥ 1, a1, · · · , an 1 2 � 	�	 }

% � ( �/4
�C%
&
(1) a 1 R �����	��
���5�6��
(2) a 1�����)�*�2A-�*�4�%
�!5�6 ! ��O�@ R 1 ����� ��2�1�-�*
� $
<>=

�
1.

( U3V )

S−1R �
`�a����#�	��
�������T	��
/�
S−1

a0 ⊂ S−1
a1 ⊂ · · · ⊂ S−1

an ⊂ · · ·

20



�����Y��� ! T�� (∗) B�.
4
�W�C+g-	�C����@�*���$/4
�C%
&
� � i ≤ 0 �
� ��� ai ⊂ ai+1

2A������-��3-C.�� ai �
`Aa��J� a �
� �9� a

1
∈ S−1ai 2����
BC.�� a

1
∈ S−1ai+1 23HJ�

FG� a ∈ ai+1 2��3��� ��#���O�@A� R �����	��
��	����T���

a0 ⊂ a1 ⊂ · · · ⊂ an ⊂ · · ·

��� .Gf/�J��� R � ��� � ��2Y����4W%!B^.������ n ∈ Z �X[�\8�]@�� an = an+1 = · · ·
%�-W�!�>�!#Y��O�@���4J�C%X& S−1an = S−1an+1 = · · · 2����XBC.!� S−1R 1 ����� ��2
�3���

�

�
2.

(1) (U�V )

f(x), g(x) ∈ a -/.�0Y� f(x), g(x) ��"J	���1 0 2����XBC. f(x) − g(x) ��"
	��/H 0
2Y� �]�8�]# �AO�@Y� f(x) − g(x) ∈ a 2 �W� ��I #��
` aW� h(x) ∈ R �_� �]@ �
h(x)f(x) ��"J	��CH 0 2����
B�.!� h(x)f(x) ∈ a �C�
O�@�� a 1 R �����	��
��

�

(2) (U�V )

a � � ��)#*�2A�3��%0-/"C�9� a = (f1(x), · · · , fn(x)) % � ( � 4��/%�&�� �#)#*A���
��	����J2
�
����HX��� m %�� (Y%!��`Ya�� g(x) ∈ R �J� ��@ g(x)fi(x) � m + 1
������	�1 4 ��	�	�2������8�9#���O�@ 2xm+1 ∈ a 2��������

2xm+1 = g1(x)f1(x) + · · · + gn(x)fn(x)

% ����0A� g1(x)f1(x) + · · ·+ gn(x)fn(x) � m + 1 �3���A	31 4 � 	A	32A� ��B�. 2 �
1�-CF���-�*��A2������/�
O�@ a 1�����)�*�2A1�-�*J�

�

21



� � � �
12

�
1.

p, q ������-�����	3�C%J&
� Z ���#�	��
 (p2), (pq) �
� �!@
√

(p2) = (p),
√

(pq = (pq)

�95�6��
�

2.

p �	��	3�/%
&
� Z ���#�	��
 (p2) �
?�*�@	�������������!�
(1) Z �����	��
 a � a ⊃ (p2) -C.�0 a = Z I�#A1 a = (p2) IA#�1 a = (p) ��5�6��
(2) (p2) 1	��
�-���� ��
��3��5�6��

<>=

�
1.

( U3V )

√

(p2) = (p) 2����A4�% +
`�a�� pm ∈ (p) (m ∈ Z) �
�>��@�� (pm)2 = p2m2 ∈ (p2) 2����
BC.9� pm ∈

√

(p2)

2����9�C�
O�@��
√

(p2) ⊃ (p)

I�#�� x ∈
√

(p2) -C.�0��A��� k ∈ Z �
[A\ ��� xk ∈ (p2) %!-3�
BC.�� p2 | xk 2��/FP�
p 1	��	32����
BC.�� p | x 2�-��!f30�-C.�-�*J� �9#���O�@�� x ∈ (p) 2��3�JBC.��
√

(p2) ⊂ (p)

S�T�B�.��
√

(p2) = (p) 2����!�
√

(pq) = (pq) 2�����43% +
√

(pq) ⊃ (pq) 2��3��4�%�1��/.�BA-���2��
√

(pq) ⊂ (pq) 2A����4�%J��5�630��
*J�
x ∈

√

(pq) -C.�0������ m ∈ Z �
[�\8��� xm ∈ (pq) %�-��JBC.9��4
�C%J& pq | xm

2��3�!� ��� p, q 1�����-3� �A	�2A����BC.9� pq | x 2A-��9f�0�-�.!-A*
� �!#�� OA@��
x ∈ (pq) 2���FP�

√

(pq) ⊂ (pq)

�

�
2.
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(1) (U�V )

Z 1Y����� � ��
�� � 2Y�W�XB/.!� a = (m) (m ∈ Z) % 08�]@ � ( � p.92 � � �
2.4.1 �WFG� (m) ⊃ (p2) ⇔ m | p2 2����JB/.!� m 1 1, p, p2 ��*�%�f�B�2Y����� �]#
��O�@�� m = 1 �^%J&J� a = (m) = Z � m = p �^%J&X� a = (p) � m = p2 �^%J&X�
a = (p2) 2��3���

�

(2) (U�V )

1 6∈ (p2) 2�����BC.9� (p2) ( Z 2��3�A4�%91���*J� I�#A� (1) ��&�'3BC. (p2) � ���
�	 Z �����	��
�1 Z % (p) ��B�- (G� (p) ∩ (p) = (p), (p) ∩ Z = (p), Z ∩ Z = Z

2����
BC.!� (p2) 1	��
3-���� ��
�2��3���

�
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� � � �
13

�
1.

R ���8%��9� e ∈ R 1 e2 = e �JZA#
$ %g$C�!� e 6= 0, 1 -C.!0�� e 1
)�Q�R�2�����4�%
��5�6A�
�

2.

R �	 ����>%���� x ∈ R %g$C���/4
��%
&
�

`(x) := { r ∈ R | rx = {0} }

1 R ���#�	��
�2�����4�%���5�6��
�

3.

(1) Z/45Z �����	��
C�!$��3@

����!�
(2) Z/45Z �������	��
�1��df�B
�

<>=

�
1.

( U3V )

e 6= 0, 1 2A���
BC.!� 1 − e 6= 0, 1 2����9� %
4�MJ��� 0 = e − e2 = e(1 − e) = (1 − e)e
2�����BC.�� e 1
)�Q
R�2��3���

�

�
2.

( U3V )
a, b ∈ `(x) % $C�9�W4���%�&�� (a− b)x = ax− bx = 0− 0 = 0 2A�3��B�.9� a− b ∈ `(x)
I�#���`�a�� r ∈ R ��� ��� (ra)x = r(ax) = r0 = 0 2����
B/.9� ra ∈ `(x)
S�T�B�.�� `(x) 1 R �����	��
�2A�����

�
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�
3.

(1) Z/45Z �(� � �.
 1 45Z � �  Z �(� � �.
 a = mZ (m ∈ Z) � � O @ � mZ/45Z
� ���3�9@A* � ( ������� 5 � (2) ��� ) �/�9#A�_O @A� 45Z � �/ Z ���#�/��
 �9$
� @ 
3� f 0��c* � � p.92 � � � 2.4.1 � FP� (m) ⊃ (45) ⇔ m | 45 2 � � B . � 45 �

c	 � 
 �cf 0 � * ��� # ��O_@c� 45 � 
 	 1 1, 3, 5, 9, 15, 45 2J� � B . � Z/45Z �
$ � @ �(� �'� 
 1c� Z/45Z, 3Z/45Z, 5Z/45Z, 9Z/45Z, 15Z/45Z, {0} 2 � � �

(2) � � � � � 
 1 � � � �.
 2_� � B . � 3Z/45Z, 5Z/45Z 1 � � � � 
 2 � � � I_#c�
a = a+45Z (a ∈ Z) % 0_$ 4 % � $ � % � 3 6∈ 9Z/45Z 2c� � �_� 3·3 = 9 ∈ 9Z/45Z
2Y� �XB^.]� 9Z/45Z 1 ��� �!��
W2 1�- *_� +�. �Y� 5, 3 6∈ 15Z/45Z 2Y� �J� �
3·5 = 15 ∈ 15Z/45Z 2c� � B . � 15Z/45Z H � � � � 
 2c1 - * � D E � � 5, 9 6= 0
2A�����A� 9 · 5 = 0 2A�3�JB�.9� 45Z/45Z = {0} H �#�#�/��
32A1�-A*�� S T�B�.9�
�����	��
�1 3Z/45Z, 5Z/45Z 2��3�!�

( 	�
 )

(Z/45Z)/(mZ/45Z) ∼= Z/mZ (m = 1, 3, 5, 9, 15, 45) 2A� ��B .9� mZ/45Z ���&�
�	��
�2A����43%�% Z/mZ �
� � 2����A4�%�%9D ��2A����� b
f�1 +A.���� mZ �
� �#�'� 
 2A� �c4 %A% D � -A� " B .9� Z/45Z � �&�&�/� 
 1 3Z/45Z, 5Z/45Z
2������
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� � � �
14

�
1.

�� �D�! ϕ : R[x] −→ C � ϕ(f(x)) = f(i) (i =
√
−1) ����O�@#"��������3�����

�����9�

(1) ϕ 1J:�"�2����A4�%
��5�6��
(2) ker ϕ ��
����9�
(3) C 1��3� R[x] ������� %�D�!�2�����4�%
�95�6��

�
2.

R �	 ����>%���� a1, · · · , an ∈ R %g$C���/4
�C%�&
�
(a1, · · · , an) = { a1r1 + · · · + anrn | r1, · · · , rn ∈ R }

2����A4�%
��5�6��
<>=

�
1.

(1) (U�V )

`�a�� a + bi ∈ C (a, b ∈ R) �
�8��� f(x) = a + bx %����J0�� ϕ(f(x)) = a + bi 2
���
BC. ϕ 1
:�"�2������

�

(2) ϕ(x2 +1) = 0 2A�3� B�.9� ker ϕ ⊃ (x2 +1) 2 �3�9�A-��3-�. ��`Aa � (x2 +1)f(x) ∈
(x2 +1) � � � @A� ϕ 1 �  3D ! 2 � ��B . � ϕ((x2 +1)f(x)) = ϕ(x2 +1)ϕ(f(x)) = 0

����� f(x) ∈ ker ϕ -C.]0�� f(i) = 0 2����
B^.���Q
	!"�#�����F f(x) 1 x2 + 1 2
- F1.�fC�!� �9#���O�@�� ker ϕ ⊂ (x2 + 1) 2����9�C�
O�@�� ker ϕ = (x2 + 1)

(3) (U�V )

 WD�!!"�# �WFG� R[x]/ ker ϕ ∼= Im ϕ 2Y� �X�Y� (1), (2) �WFP� Im ϕ = C, ker ϕ =
(x2 + 1) 2����
BC.9�

R[x]/(x2 + 1) ∼= C

�
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�
2.

( U3V )
I = { a1r1 + · · ·+ anrn | r1, · · · , rn ∈ R } %�� ( �C4
�C%�&!`�a�� a1r1 + · · ·+ anrn,
a1s1 + · · ·+ ansn ∈ I (ri, si ∈ R) �
� �9�

(a1r1 + · · ·+ anrn) − (a1s1 + · · · + ansn) = a1(r1 − s1) + · · ·+ an(rn − sn) ∈ I

IA#A� ` a�� r ∈ R � � �9� r(a1r1 + · · ·+ anrn) = a1r1r + · · ·+ anrnr ∈ I 2A�3��B�.9�
I 1 R �����	��
�2����9��I�#��J`�a�� i = 0, 1, · · · , n �
� �9� ai = ai · 1 ∈ I �3FP�
I 1 a1, · · · , an ���/ R ���#� ��
�2A���9� ��#�� OA@�� (a1, · · · , an) %�1A� a1, · · · , an

�9$ �3@ �/ ��+ - R ���#�'��
 2 � 
3� H��c2A�_O #AB .9� (a1, · · · , an) ⊂ I 2A�3� �
������`�a�� a1r1 + · · ·+ anrn ∈ I (r1, · · · , rn ∈ R) �
�>��� ai ∈ (a1, · · · , an) ��F �
�#�/��
��#"�$�B�. airi ∈ (a1, · · · , an) 2A�CF a1r1 + · · ·+ anrn ∈ (a1, · · · , an) 2A�3�9�
��#��AO�@A� (a1, · · · , an) ⊃ I 2��/FP� (a1, · · · , an) = I �
5 +gf�#J�

�
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� � � �
15

�
1.

��	/� *����	��? 2 �3�J������
��J:A; M2(Z) 1���
3��� % �����C�9@
��2������
M2(Z) ��������	

R =

{



a 2b

0 a



 : a, b ∈ Z

}

1 M2(Z) �����A��2�����4�%
�95�6���I�#�� R 1�� � B���+gB�
������
�

2.

Z �����	��
 (2),(6) ����� Q[x] �����	��
 (x), (x2), (x2 + 1) �
?�*�@��������

(1) �������	��
�1 �gf�B
�
(2) 6x2 ���	 ����/��
�1��gf�B
�
(3) ����� Z/(6) % Q[x]/(x2) 1
� � 2�-�*�4�%J��5A6��

�
3.

��	�� Z ����� ��	 S = {1, 3, 32, · · · } %g$C�!� Z �	�����	��
 p = (2) %g$����
4
�/%�&
� S−1Z ⊂ Z � �95�6��
�

4.

Z[x] �J� 3x2 − 18x + 24 % 5x2 − 20 �	������
�	�� ��
���	�	C��
��3���
�

5.

��	 p ���8��� Z �����	��
 (p3) �����
√

(p3) ��
��3���
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<>=

�
1.

( U3V )




a 2b

0 a



 ,




a′ 2b′

0 a′



 ∈ R -C.90��




a 2b

0 a



 −




a′ 2b′

0 a′



 =




a − a′ 2(b − b′)

0 a − a′



 ∈ R




a 2b

0 a








a′ 2b′

0 a′



 =




aa′ 2(ab′ + a′b)

0 aa′



 ∈ R

I�#�� 


1 0

0 1



 ∈ R

S�T�B�.�� R 1 M2(Z) ��������2A���!�

�

I�#��



0 2

0 0



 ∈ R 2����J���




0 2

0 0








0 2

0 0



 = O

2�����BC.�� R 1
� � 2�1A-�*
�
�

2.

(1) Z ���>� @A1�� 	���� Q[x] ���>� @A1 ��
3-#����� ��� ? �9f 03��* ��" B�.9� � �
���	��
�1 (2), (x), (x2 + 1) 2��3�!�

(2) 6x2 = 6x · x = 6 · x2 2����
B/.�� 6x2 ∈ (x), 6x2 ∈ (x2) 2����!� x2 + 1 - 6x2 2����
BC.�� 6x2 6∈ (x2 + 1) 2������

29



(3) (U�V )

3 + (6), 2 + (6) ∈ Z/(6) 2A��FP� 3 + (6), 2 + (6) 6= (6) 2A�3���A� (3 + (6))(2 + (6)) =
6 + (6) = (6) ��FP� Z/(6) 1
� � 2�1�-�*��
IY# � x + (x2) ∈ Q[x]/(x2) 2Y� x + (x2) 6= (x2) 2Y�W�X�Y� (x + (x2))(x + (x2)) =
x2 + (x2) = (x2) ��F � Q[x]/(x2) 1�� � 2�1�-�*
�

�

(	�U )

R ��� I � R �����	��
 %g$���%�� R/I �
� � ⇔ I 1	�����/��

Z, Q[x] 1��	�����/��
�� � 2����
B�.��	�����	��
 ⇔ �������	��
�-���2
(1) �	&�'�BC.9� Z/(6), Q[x]/(x2) 1�*�%AfCH�� � 2�1�-�*��

�
3.

( U3V )
Z − p 1
e�	A:�;�����	��
$�-�	�L 1 + 2Z 2����
B/.�� S ⊂ Z − p 2��������
O�@
S−1Z = { a

s
| a ∈ Z, s ∈ S }, Z � = { a

s
| a ∈ Z, s ∈ 1 + 2Z } 2����
B�.�� S−1Z ⊂ Z �

2����9�

�

�
4.

b
f��JfC���A����
A$/��%�� 3(x − 2)(x − 4), 5(x + 2)(x − 2) 2��3�
BC.9� ������
A	
1 x − 2 �	��

��	�	31 3 · 5(x − 2)(x − 4)(x + 2) 2������
�

5.

`�a�� pm ∈ (p) (m ∈ Z) �
�8��� (pm)3 ∈ (p3) 2����JBC.��
√

(p3) ⊃ (p) 2������
I�#���`�a�� x ∈

√

(p3) �J� �����3� k ∈ Z �
[�\ �!@�� xk ∈ (p3) %�-3�
���
4
�/%�& p3 | xk 2��CF p �	��	�2����A4�%�B/.�� p | x 2������ �9#���O�@�� x ∈ (p)
2��/FG�

√

(p3) ⊂ (p) 2�������S3T�BC.!�
√

(p3) = (p)
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